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Instructions

L. Attempt all questions from each section.
2. Figures to the right indicate full marks.
3. Write Section-A, Section-B on separate answer sheets.

SECTION-A-25 Marks

Q.1 (a) Multiple Choice Questions (One Mark Each) ' (03)
1. The approach of Weber’s Theory of lndustri;l Location is:
A. Lucrative B. Inductive C. Deductive D. Creative
2. According to 1991 Industrial Policy Resolution, Public Sectc.: Undertaking which is
chronically sick would be referred to:
A. BIFR B. SIDBI C. IDBI D. SBI
3. According Weber, if the value of MI>1 for an industry, then the location of that industry
will be:
A. Attracted towards Consumption centre
B. Attracted towards the Raw material base
C. Uncertain
D. None of the above
Q.1 (b) Definition / Short Questions (One Mark Each) (03)
1. Give the full forms of MRTP and BIFR.
2. Define the agglomerative tendencies of industries with example.
3. Give importance of SIDO and FERA.
Q.2 Write a detail note on Weber’s theory of Industrial Location with proper diagrams. (06)

Q3. (a) Classify all the factors affecting Industrial Location and explain only the factors relating to the

production in brief. (04)
Q3. (b) Discuss the socio-economic objectives of the Industrial Policy of 1980. (03)
OR
Q3. (a) Give the highlights of Industrial Resolution of 1948 and 1956 (04)
Q3. (b) Discuss the Dynamics of the Industrial Location. (03)
Q.4 Discuss the provisions of the Industrial Policy 1991. (06)
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SECTION-B -25 Marks

Q.1 (a) Multiple Choice Questions (One Mark Each) (03)
1. Out of the following which is not the Public Sector Undertaking:
A. Hindustan Machine Tools
B. Hindustan Aeronautics Limited
C. Hindustan Unilever Limited
D. Hindustan Petroleum
2. Private Sector includes:
A. Individual industrial enterprises, partnerships and joint stock companies
B. Private Industries
C. State Government Enterprises
D. Multinational Companies
3. In the post-reform period, the growth of Service Sector in India has taken place due to:
A. Provision of services by the Government l‘

B. Liberalization of industrial and trade policies that allowed private participation
C. Radical changes in the technology

D. None of the above

Q.1 (b) Define following terms: (One Mark Each) (03)
1. Privatization.
2. Globalization.

3. Liberalization.

Q.2 Explain the shortcomings and defects of the Public Sector enterprises in India. (06)
Q3. (a) Explain in a tabulur format the eligibility and investment criteria of Maharatna, Navratana, €
Miniratna-I and Miniratna-1[. (04)
Q3. (b) Information and communications technology. (03)
OR
Q3. (a) Discuss the crowh and contribution of Service Sector in India (04)
Q3. (b) Discuss the o\ . inent Policy related to the Private Sector with respect to its expansion,
competition and globalization. (03)
Q.4 Discuss the role of Private Sector in India. (06)
. XXXX
Page 2 of 2

Scanned by CamScanner



